S LAPPSET.

CLOXX

ASENNUSOHJE
MONTERINGSANSVISNING
INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

NOTICE D'INSTALLATION

DATE: 24.1.2020

220325

Lappset Group Ltd

Copyright




220325

% LAPPSET. 1(1)
CLOXX 3
DATE: 24.1.2020
702341  |pcs 702633 703982  |pcs 704006 |pcs 704159  |pcs 704179  |pcs
1 t 1 o by
90x50 90x50 =
704183  |pcs 704199  |pcs 704332 704432  |pcs 704440 |pcs
1 1 1
= = = = =
704676 |pcs 704678 |pcs 707133 709045 |pcs 901868 |pcs
1 2
4 <
& || - - |
= = 10x80x745 ?34x598
902022 |pcs 902134 |pcs 902157 904414 |pcs 904455 |pcs
10 30 2 5
L 710 = 60x60x2 260 /40 L 515 L 2737
904456 |pcs 904505 |pcs 904819 |pcs 904834 |pcs 909519 |pcs 909637 |pcS
1 2 6 32
L 2737 L 2137 @44.5x710 L 710 380x380 M10
909638 |pcs 909639 |pcs 909708 |pcs PCS PCS PCS
64 32 2\ 1
©20/10.5 M10x25 +870

Copyright Lappset Group Ltd

PCS

PCS

PCS

PCS




% LAPPSET.

CLOXX

Copyright Lappset Group Ltd

220325

DATE:

24.1.2020

- - - - - - - - - - - - -
EN/AS Impact Area 34.5 m2 .50
+ * * * * * * * * * * T ne—
Grid size = 500 mm 0 2
+ + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + +

970 785 2000 785

+ + + + + + + + + + + + + + +
+ + + + + + 1 + + 1 + + + + +
+ + + + + + + + + + + +
+ + + + + + + + + + + +
+ + + + +[\ + f) + + \ + +

ITo) + + + + + + + + + + + + + | o+

0 0

i A\ ~N ) -
. . . + og : C) + + UO . . +

0 To)

0 o

~ + + + + + + + + + + + + + + | +
+ \) + +

o + + +

o

|\
+ + +
- + +
+ + +
+ + +
+ + +
+ + +
+ + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + +




220325

DATE:

8% LAPPSET.

CLOXX

4A

24.1.2020

NN W\ u%
_

fi

N
N
NN W \
NN

NN W N N
NN NN N

I A

X
N N
ASN N\
N NN
N NN
// N /ﬂ
NN

MTOX25

909519

p17] dnout9 jesddo jybhdon



% LAPPSET.

220325

DATE: 24.1.2020 5
E— EN/AS Impact Area 34.5 m2
:50
[ I
- Falling Space 37.6 m2
Max Falling Height 1550 mm
4720
/// o Q - 1
B
r,/ o Q
/ 3 >
///) IS)
S
’ S
830
2
Pt 1500
N @
§ R
~
1000
o
o
o
«

Copyright Lappset Group Ltd

6930

7500




8% LAPPSET.

CLOXX

220325

DATE:

24.1.2020

SA

+2320

+1470

+870

+3410

+2250
+1470
O0o
—= vo

Copyright Lappset Group Ltd




® LAPPSET. 220325

CLOXX
DATE:  24.1.2020

904819
X6
904455
x5

902022
x10

904760 90461/

904957
; ‘l_ '\:l_.(_\/
_'—_\:,_.(_ ‘~l— :

904697 ‘ ] 5

(704381) . I ¢

@ 904505) (905019 904414
(704676) X2

Copyright Lappset Group Ltd




8 LAPPSET. 220325 TOWER A

CLOXX 7

DATE: 24.1.2020
904819
x3 905019
(704676)

904987
(704676)

904455 g

P §§ﬁ> / ﬁ)
904760 ;jéqu Zz;ii%
(704381) L \ Ny

904697 ’/ﬁé§§§ I
(704381)

: ’> | @v |
(704381) | H @ C B
Tl

909519
902134
x18
704676

904414
X2

Copyright Lappset Group Ltd




% LAPPSET.

220325

TOWER A

DATE: 24.1.2020 ; a
D
(= = E— — [ - = — . )
+1655 +1655
+870 +870
P +270
B ——1©
+0 +0
o
o
©
I N L N S SN S =N T T
+2255 +2255
H——— 0
+1470 +1470 i
———
+870 +870
+270 +270
- o——
+0 +0
P P P A, P A, P A s A

Copyright Lappset Group Ltd




Copyright Lappset Group Ltd

8 LAPPSET. 220325 TOWER B

CLOXX DATE: 24.1.2020 7 b

(

904455 904819
x3 <<;;; y/7<: "I!!l)
904834

904456

|
i‘

"

C
@) \
G > .

704199
//‘
703982

909519
x4

W,

704678 § %,

e\
J \
R
‘\’ﬁ\g X




% LAPPSET.

CLOXX

220325

TOWER B

[£~

Copyright Lappset Group Ltd

DATE: 24.1.2020
B
+2255 +2255
[ = E— .
+1470 +1470
+270
+0 +0
o
o
[(e]
4 e S T T
+2255
[~ = E—— R os—HD
+1470 +1470
+270
1
+0 +0
e e S




% LAPPSET. 220325

CLOXX DATE: 24.1.2020 8

Max falling height.
-
H @@
909708 =
704199
704183
704381
703982 ﬂ ” U
o © N
o N
0 I
O
704006

Copyright Lappset Group Ltd




8% LAPPSET.

Impact Area EN 1176 REF:

Copyright Lappset Group Ltd

DATE: 20.2.2018

4x

]

]

h <600

Without movement
and therefore
without Impact Area

Totally hard surfaces.

Note. Lappset does not recommend
totally hard surfaces at all.

E.g. concrete or asphalt

h <600

With movement
e.g. rocking

Materials with very limited
impact attenuating
properties.

E.g. wood
U 1Y Dl 1Y i

h <1000

Materials with significant
impact attenuating
properties.

fine gravel 0—8 mm

T Ay vy 454 a4 B <4 s a4

saa 0300 237 439 40 eml e Ly
AR 44. .44 24 i

Mmi%
h <3000 Loose fill material
E.g. e T
sand/gravel 0,25...8 mm D60/D10<3,0 | = o ]
Woodchips 5...30 mm : ae Ol
bark 20...80 mm < . ) :
e PR S R
S h
30 cm < 2,0 m
40 cm < 3,0 m
Syntethic granulates ’—‘
S h
40 mm ~> 1,2..1,3 m S
50 mm ~> 1,5...1,7 m RS I Al //ﬁ‘
60 mm ~> 1,8...2,0 m :::*:7:*:::::::::::::::
70 mm ~> 2,1..2.5 m P S

Note. For accurate values, see
manufacturer’'s instructions.



lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text


% LAPPSET.

EN 1176 FOUNDATION

REF:
DATE:

20.2.2018

REMOVE SAFETY SURFACE /SAND/GRAVEL
TO CHECK FOUNDATION

9

REMOVE SAFETY SURFACE /SAND /GRAVEL
10 CHECK FOUNDATION

Copyright Lappset Group Ltd




% LAPPSET.

CLOXX

4

P N S |

FLOOR (SLIDE) DATE:  3.10.2013 1(3)
(O 704432 | 704038 [pcs|() 902124 pes|() 902232 [pes|() 902233 [pes|(O) 980161 [pcs] pes
nl 6 6 2 |
) / ,’ ‘\@4‘
& 9 -
| 150x50x50 | | Mioxs5 | | wmiox30 | | w0 | | -
pes(C) 909109 [Pes|(0) 905090 [pesi(C) 980154 [pes|(C) 909248 [pes|(C) 905115 |pes|
| 2 2 2 2 2
\mf
1 Mmi2xa0 | @45 | | w@2413 | | M2 | | @32 | |
PCS| PCS| PCS| eS| PCS| PCS|
(O 704447 | 704446 |pes|() 902124 [pes|(C) 902232 |pes((C) 902233 |pes|(C) 980161 |Pes| pes
a 2 6 6 2 |
2 / /’ i\@“
& 9 =
| 150x50x50 | | Mioxss | | wmiox3o | | Mo | | ]
pes() 909109 [pes|(0) 905090 [pes|(C) 980154 [pes|(C) 909248 [pes|(() 905115 |pcs|
| 2 2 2 2 2
\euf
| wmizxeo | | w45 | | @243 | | w2 | | @32 | |
PCS PCS PCS PCS PCS PCS
(O 704666 |() 704667 |pes|() 902124 [pes|(C) 902232 |pes() 902233 |pes(C) 980161 |pes| pes
nl 6 6 2 |
: 8 \m#
H
1 | 1s0x50x50 | | Mioxss | | wmiox30 | | w0 | ] -
? pes(C) 909109 [Pes|(0) 905090 [pes((C) 980154 |pes|(C) 909248 [pes|(C) 905115 |pes|
| E3 2] 2] 2] 2]
it L]
P I I I I I —
gl M12x40 245 @24/13 M12 @32




% LAPPSET.

CLOXX

FLOOR (SLIDE) DATE: 3.10.2013 2(3)
(O 704684 |() 704685 |pes|() 902124 |pes|() 902232 [pes|(C) 902233 [pes|(C) 980161 [pes] pes
1 12] €] © 12] -
» ,/ < .\-\—/‘
<> & o
| 1s0xs0x50 | | wmioxss | | wmioxso | | w0 | ] B
pes(C) 909109 |Pes|(C) 905090 [pes|(C) 980154 |pes|(C) 909248 [pes|(C) 905115 |pes|
- 2| 2] 2] 2| 2]
|| &
2|9
| w20 | | w45 | | w24z | | w2 | | @32 | |
s s s s s s
(O 704692 |() 704693 |pes|() 902124 [pes|() 902232 [pes|() 902233 [pes|() 980161 [pes] pes
1 6 6 12
* e, P ‘@>
> v || ©
| 1soxsoxso | | mioxss | | wmioxso | | w0 [ ] ]
pes(C) 909109 [Pes|(0) 905090 [pes|(C) 980154 |pes|(C) 909248 [pes|(C) 905115 |pes|
- 2] 2] 2] 2] 2|
\mf ®
ol Mi2xao | | ess | | @213 | M2 | | w32 | ]

PCS

| 4+ O
coppsSttT—oroup—Cta

H 4
COpPyrigmt




% LAPPSET.

CLOXX

DATE:  3.10.2013 3(3)

FLOOR (SLIDE)

MT2 x40

(909109)

904310

905090
224 /13

(980154)

MT2

(909248)

902115

ed

ATT I MAX GAP betweeéen plate
and tube is 6mm
HUOM ! MAKSIMI VALI lattialevylld

ja putkella on 6mm

T

(902233)

902124
MTO
(980161)

KAYTA TARVITTAESSA SAMAA LEVYA
VASEMALLE TAI OIKEALLE.

IF NECESSARY USE SAME PLATE LEFT
OR RIGHT.

| +4

Aariakbht 100Q | ~r- + O

IO OpPStT \Jrubp |=ue)

~

COpygrt

NOTE:

Huom!

pDAria samassa

Use a wire marked pairs
of the same junction.

Kayta langalla merkittya

llitoksessa.




Copyright Lappset Group Ltd

% LAPPSET.

CLOXX

FLOOR 2 DATE: 10.5.2012 1(2)
(O 704443 () 704442 [pcs|() 902124 [pes|() 902232 |pes|() 902233 |pes|(C) 980161 |pes| Pos|
RN 16 8 8 16 -
24 < ‘@)
@/ =
| 1s0xs0x50 | | wmioxss | | wmioxso [ | w0 [ B
(O 704703 | 704704 [pes|(0) 902124 [pes|(C) 902232 [pes|(C) 902233 [pes|(C) 980161 |pes| pes|
1 8 8 16
; 2 D P ‘@;)
&
| 1soxsoxso | | wioxss | | mioxso [ | w0 [ B
(O 704678 |() 704679 [pes|(0) 902124 [pes|(C) 902232 [pes|(C) 902233 [pes|(C) 980161 |pes| pos|
1 8 8 16
- S
S/
|| 1s0xs0x50 | | wmioxss | | wioxzo [ | wmio | | ]
(O 704694 () 704695 |pes|(0) 902124 [pes|(0) 902232 |pes|() 902233 [pes|(C) 980161 [pes| pes|
7 14
- =
=
150x50x50 M10x55 Miox3o | | w0 | | B




CLOXX

% LAPPSET.
FLOOR 2

2(2)

10.5.2012

DATE:

MTOx22
M

Ox 50

(902233)

Use a wire marked pairs

of the same junction.
paria samassa liitoksessa.

Kayta langalla merkittya

Huom!

N
T
O
=

P31 dnoug 3asddp g6l 3ybuhdo)



Copyright Lappset Group Ltd

% LAPPSET.

CLOXX

708858

DATE:

11.2.2019

860

/T

O
Mm
—

784

o/

DET 2, 3

(3) 904810

=

pes|(4) 904818

D

(5) 904833

e

@30x565

pes|(6) 909876

Be]
(9]
[%2)

(7) 980152

o
Q

(870-1470—1970-2070)

|

DET 6

(1) 909855

7

M8x35

o
Q

(12 910683

<

211

=
9]

(3 909850

3

784

M8x25




Copyright 1998 Lappset Group Ltd

8 LAPPSET. 708858
CLOXX DATE: 11.2.2019 2(2)
DET 1 DET 2 904818

In
side
Sisdpuoli.

e

M12x120
(902096)

901994

904810
Asennetaan
runkovaiheessa.
Be installed
frame in step.

MEx40

(909876) |

&

4 904810
“ e e N M2 704696
’ (902234) /0469 7/
DET 3 M12%x120 DET 4
% % (902096)
\ 901994
M8x50
(900498)
904818 p24/8.4
(980152)
M1T2
(902234)

DET 5

909855

w24 /3.4
980152

MEXZ2S
909850

MEx40

(909876)




Copyright 1998 Lappset Group Ltd

% LAPPSET SLIDE METAL

DEEP FOUNDATION DATE:  11.2.2019 1(1)
(O 707133 |pes|(O) 901868 |Pos|(1) 909210 |pes|(2) 905051 [pes|
1 2 4 4
]| o
10x80x745 | | @30x598 | | M8x40 | | @24/8.4 | |




Copyright 1998 Lappset Group Ltd

% LAPPSET SLIDE METAL
DEEP FOUNDATION DATE:  24.11.2020 1(1)
Floor level +19/0
+1970 ﬁ S
L)
| +0 A Z
YO
©
M~
|
Floor level +87/0,
+14/0, +20/0
O
L)

+870, +14/0, +207/

[ 1]




% LAPPSET. 902134

CLOXX DATE:  3.5.2013 1(2)

Copyright Lappset Group Ltd

(1) 901803 |pcs|(2) 901994 |pes

DET 1, 2, 3, 4, 5, 6, (8) ®/

M12x90 2190
(3) 902096 |pes|(a) 902234 [pes
DET 8 @/ 4 | 6]
— M12x120 | | M2 | |

X

L\ @ L R

DO NOT TIGHTEN THE ] ]
JOINTS UNTIL THE T ]
STRUCTURE IS COMPLETE.




% LAPPSET.

902134

CLOXX DATE: 3.5.2013 2(2)
DET 1 DET 2 DET 3
FIRST BOLT
~ FIRST BOLT INSTALLATION
— 1% ( 3 INSTALLATION TMOX‘ SONm.
\ Max. 20Nm.
T
LAMINATE OR WQOD ’\/H 2><9©
(901803)
M12
(902234) (902234)
DET 4 DET 5 DET 6

901994

901994

Max. 20Nm.
M12x120
( )

FIRST
BOLT
INSTALLATION

Max. 20Nm.

MT2
(902234)

M12x120

REMEMBER
FINAL
TIGHTENING

902096 (902096)
DET 7 902157 or DET 8 902157 or

904747 904747

FREE HOLE FREE HOLE

Copyright 1998 Lappset Group Ltd




8 LAPPSET. 704159
CLOXX DATE:  16.5.2012 1(2)

(2) 902124 |pcs

150x50x50
(4) 902233 |pes|
~N 2
Na 2
=) <
=)
< ) J';,—' MIOxs5 | | Miox30 | |
\ (5 902273 |pcs|(6) 980161 [ps]
4
S
&
Mo | |
E
- Pes Pes

Copyright Lappset Group Ltd

400

785




% LAPPSET. 704159

CLOXX DATE: 16.5.2012 2(2)
DET V10 DET 2 1o
(980161) 704159 (980161) 902275
. J022/5 902124
g 902124
= ) <

%
M1 0x 30 M10x30
(902233) (902233)
MT1Ox55
M10x55 (902232)
(902232)

DET 4

Copyright 1998 Lappset Group Ltd




Copyright Lappset Group Ltd

% LAPPSET.

WALL 2

CLOXX

DATE:  7.5.2012 1(2)
(O 704179 | 704180 [pes|() 902124 [pes|() 902232 |pes|() 902233 |pes|(() 980161 |pes| pes|
b 1 12 1 6] 16| 12 |
_ S
“GRAY | | 150x50x50 | | Mioxs5 | | wmiox30 | | Mo | | ]
(O 902124 pes|(0) 902232 [pes|(C) 902233 [pes|(C) 980161 |pcs| pes|
6] 6| 12 -
_ S
5 S
YELLOW 150x50x50 | | M10x55 | | Miox30 | | Mo | | ]
(O 703998 |pes|(0) 902124 [pes|(C) 902232 |pes|(C) 902233 [pes|(C) 980161 |pes| pes|
] 1 6] 6] 12 ]
”/ = ;.,, _ 1@;
5 ot
150x50x50 M10x55 | | Miox30 | | Mio | | -
() 902124 |res|() 902232 EO 902233 g@ 980161 |Pcs| Pos|
6] 6 | 12 -
_ S
150x50x50 | | M10x55 | | Mi0x30 | | Mo | | ]
(O 902124 |pes|(0) 902232 [pes|(C) 902233 [pes|(C) 980161 |pcs| pes|
6] 6| 12 -
_ S
YELLOW 150x50x50 | | M10x55 | | Miox3o | | Mio | | |




Copyright 1998 Lappset Group Ltd

% LAPPSET. CLOXX

WALL 2

DATE: 7.5.2012

2(2)

MTOxD52

MTOX0D

MTOx50

NOTE:
Use a wire marked pairs
of the same junction.

Huom!
Kayta langalla merkittya
paria samassa liitoksessa.




704183

% LAPPSET.
CLOXX

1(2)

Pes|(2) 901899

21.5.2012

DATE:

PCS

36

4

PCS
36

PCS

@60x115

980161

M8x45
M10x55

M10

A

18

2

PCS
20
PCS

M10x30
(7) 904617 |pcs|(8) 904623 |pes

@60x2.5
(9) 980150

s~ [\

(5) 902233 [pes|(6) 902273 |pes

G

150x50x50

(1) 704184

M8

(11 PO1915

20x145x600

L

£ S &

(+822)

(oLvl)

2000

py7 dnoug jasddo yybrihdon




Copyright 1998 Lappset Group Ltd

8 LAPPSET. 704183
CLOXX DATE:  21.5.2012 2(2)
DET 1 DET 2
M12x120 ﬁ ﬁ | - |
(902096) W ﬁ Sillan keskilinja. giggeer line of the
901994 :
2Rt

904625

(902234)
904617

902275
MTOx30

295

180] 245

DET 5

M10
(980161)

902195

902275

2 Wi
;;;2;2;§%§§f% (9@2£§2)

K

M10Ox30
(902233)

DET 6

ﬂﬂw
(301899)






